
ES-AHV serie 
ES-AHV 05 

Art.-Nr. :5410005



ES-AHV 05

Cordless Screwdriver
Open-End Wrench 
for Sizes M6 and M8

Copyright © 2020 SolarV All rights reserved

40

40

4

R4.25

1400

32

32 15 32 15

Ø8.5

50

60
20

3780

23

1432 32

800

40 40

4Ø8.5

4x 4x 10x 8x

2x

2x

2x

L-Bracket

Al
um

ini
um

 B
ra

ck
et

(In
cli

na
tio

n A
ng

le)

Al
um

ini
um

 B
ra

ck
et

 (P
an

el)

Al
um

ini
um

 B
ra

ck
et

 (M
as

t)

Hose Clamp

48

48

5.4 Ø9

M8 Hexagonal Bolt M6 Hexagonal Bolt

Ø8

25

Ø6

20

Tools ( not included ) :



1 Mount the aluminium brackets to the mast with the hose clamps.

Copyright © 2020 SolarV All rights reserved



2 Mount the L-brackets to the aluminium brackets with the M8 bolts.

Copyright © 2020 SolarV All rights reserved



3 Mount the aluminium brackets (panel) to the L-brackets with M8 bolts.  

Copyright © 2020 SolarV All rights reserved



4 Use the M6 bolts to mount the mounting holes of the panel frames onto the aluminium brackets.

Copyright © 2020 SolarV All rights reserved



5 Completed

Copyright © 2020 SolarV All rights reserved



Power your life !

SolarV GmbH
info@solarv.de
www.solarv.de


	安装说明书_ES_AHV_05_English(1)1
	安装说明书_ES_AHV_05_English(1)2
	安装说明书_ES_AHV_05_English(1)3
	安装说明书_ES_AHV_05_English(1)4
	安装说明书_ES_AHV_05_English(1)5
	安装说明书_ES_AHV_05_English(1)6
	安装说明书_ES_AHV_05_English(1)7
	安装说明书_ES_AHV_05_English(1)8

